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BEARRE TR B o R P X (3 )3 A 4R R 5t

% [ Bg - MK B % B B i * # wmE
BRI 7,097, 474
RETES 7,097, 474
AR SR & 7,097, 474
AR R & 6, 798, 700
BREtETE 2,240, 750
1 B&&tatE 1.00 126, 500 126, 500
=
2 BEAE 1.00 430, 600 430, 600
=
3 AMINE - B 1.00 387, 500 387, 500
=
4 BRI 1.00 1,296, 150 1,296, 150
=
AR - EHEERE 3,591, 700
5 REMDEE 1.00 369, 200 369, 200
7=
6 THIERICEY SRES 1.00 217,050 217,050
247
7 HEER 3.00 653, 300 1,959, 900
247
8 MEMHE 3.00 239, 500 718, 500
247
9 EIEE 1.00 327, 050 327, 050
=
BMETEEHH 219,700




BEANRE

LEBBFEDRTEBX(ESEFMEH

Bt

% #fr\ i - Bkt Bf g & & ® f
10 MEHEHH 1.00 136, 750 136, 750
fr—2
N BETEEEY 1.00 142, 950 142,950
fr—2

B 265, 250

12 EHEEREEIER 1.00 265, 250 265, 250
e

BE 108, 100

13 BE 1.00 108, 100 108, 100
=

& - WS 313, 200

14 3% - |& 4.00 78, 300 313, 200
)

EEREE 298, 774

EHARE 63,774

15 EBHAME 1.00 63, 774 63,774
e

B 190, 000

16 EHEMER 1.00 190, 000 190, 000
e

EIRERE 45,000

17 EITRERAE 1.00 45,000 45,000




LEBBFEDRTEBX(ESEFMEH

Bt

% g & - BARTE Bifg = il ® & i
E R 6.798,700 + 298,774 7,007,474
EEAGE 6,798, 700
EEEE 298, 774
T DR 6,798,700 x 53.85% ( 35% = (1 — 35% ) ) 3,661,099
EHRIE 7,007,474 + 3,661,099 10, 758, 573
—REEES 10,758,573 x 53.85% ( 35% = (1 — 35%) ) — 2,064 5,791, 427
ESlid 10,758,573 + 5, 791, 427 16, 550, 000
HETEMALE 16,550,000 x 10.00% 1,655, 000
EHBZREH 16,550,000 + 1,655, 000 18, 205, 000




REAR-ET/vr—> TR 2 oh S 7 4 X (5 )3 2 4D R 5t

FE5:1
B F  BRETETE XLy
% 7 g - BIRTiE BAf H = B @ & % = " =
EX T TC )
A 1.00 66, 900. 00 66, 900
A (A)
A 1.00 59, 600. 00 59, 600
& it E%8EH : 1.00=K 126, 500. 00 126, 500
F#E:2
&% HtAE XLy
% 7 I - BIRTiE BAf H = B @ & % = " =
EX: T TC D)
A 2.00 66, 900. 00 133, 800
A (A)
A 2.00 59, 600. 00 119, 200
A (B)
A 2.00 48, 500. 00 97, 000
HEm (C)
A 2.00 40, 300. 00 80, 600
& it E%8EH : 1.00=K 430, 600. 00 430, 600
H#E5:3
B BRUNE - BE XLy
% 7 I - BIRTiE BAf H = B @ & % = " =
EX: T TC D)
A 1.50 66, 900. 00 100, 350
A (A)
A 1.50 59, 600. 00 89, 400
A (B)
A 2.00 48, 500. 00 97, 000
HEm (C)
A 2.50 40, 300. 00 100, 750
& it E%8EH : 1.00=K 387, 500. 00 387, 500




REAR-ET/vr—> TR 2 oh S 7 4 X (5 )3 2 4D R 5t

&5 4
¥ B IRHERE RS XLy
% 7 g - BIRTiE BAf H = B @ & % = " =
EX T TC )
A 6.00 66, 900. 00 401, 400
A (A)
A 7.50 59, 600. 00 447,000
A (B)
A 3.00 48, 500. 00 145, 500
HEm (C)
A 7.50 40, 300. 00 302, 250
& it E%8EH : 1.00=K 1, 296, 150. 00 1,296, 150
H#E:5
& REMHOBE 15—24Y
% 7 g - BIRTiE BAf H = B @ & # = " =
EX: T TC D)
A 0.50 66, 900. 00 33, 450
A (A)
A 1.00 59, 600. 00 59, 600
A (B)
A 2.50 48, 500. 00 121, 250
HEm (C)
A 2.50 40, 300. 00 100, 750
Hftt &
A 1.50 36, 100. 00 54, 150
& i E£82Hh - 1.005—R 369, 200. 00 369, 200
HS:6
B AERRICET RE 19474y
% 7 I - BIRTiE BAf H = B @ & % = " =
A (A)
A 1.00 59, 600. 00 59, 600
A (B)
A 2.00 48, 500. 00 97, 000
HEm (C)
A 1.50 40, 300. 00 60, 450
& it 28D :1.0052 14T 217, 050. 00 217, 050




Rifiz -/ \v7r—o

LEEBEPRAEMX(E B)EFMEDRE

&#5:7
& F - REER 19474y
% 7 g - BIRTiE BT = B M %5 " =
A (B)
A 1.50 48, 500. 00 72, 750
HEm (C)
A 5.00 40, 300. 00 201, 500
Hftt &
A 10. 50 36, 100. 00 379, 050
& i %8N 1,005 4T 653, 300. 00 653, 300
H#5:8
& MEBHE 19474y
% 7 I - BIRTiE BT = B M %5 " =
A (B)
A 1.00 48, 500. 00 48, 500
HEm (C)
A 2.50 40, 300. 00 100, 750
Hftt &
A 2.50 36, 100. 00 90, 250
& i %D :1.0052 4T 239, 500. 00 239, 500
F#5:9
¥ ELEE XLy
% 7 I - BIRTiE BT = B M %5 " =
EX: T TC D)
A 1.00 66, 900. 00 66, 900
A (A)
A 2.00 59, 600. 00 119, 200
A (B)
A 0.50 48, 500. 00 24, 250
HEm (C)
A 2.00 40, 300. 00 80, 600
Hftt &
A 1.00 36, 100. 00 36, 100
& i E%8EH : 1.00= 327, 050. 00 327, 050




Rifiz -/ \v7r—o

LEEBEPRAEMX(E B)EFMEDRE

EE .10
& BIEHEEH 15—2%Y
% 7 g - BIRTiE BT = B M %5 " =
A (B)
A 0.50 48, 500. 00 24, 250
HEm (C)
A 1.00 40, 300. 00 40, 300
Hftt &
A 2.00 36, 100. 00 72, 200
& i E£82Hh - 1.005—R 136, 750. 00 136, 750
BE 11
& MEIEEEH 15—2%Y
% 7 I - BIRTiE BT = B M %5 " =
A (B)
A 1.00 48, 500. 00 48, 500
HEm (C)
A 1.00 40, 300. 00 40, 300
Hftt &
A 1.50 36, 100. 00 54, 150
& i 2 1.005—2 142, 950. 00 142, 950
BE 12
B EFTERBEEER XLy
% 7 I - BIRTiE BT = B M %5 " =
EX: T TC D)
A 1.00 66, 900. 00 66, 900
A (A)
A 1.50 59, 600. 00 89, 400
A (B)
A 1.00 48, 500. 00 48, 500
HEm (C)
A 1.50 40, 300. 00 60, 450
& it - 1.00= 265, 250. 00 265, 250




Rifiz -/ \v7r—o

LEEBEPRAEMX(E B)EFMEDRE

5:13
22 L I - BIKTE By = B ff ® % & &
AR (A)
A 1.00 59, 600. 00 59, 600
AR (B)
A 1.00 48, 500. 00 48, 500
& B EZE8EH - 1.00 108, 100. 00 108, 100
5:14
2% - %E - |mE 1mEY
22 L I - BIKTE By = B ff ® % & &
AR (A)
A 0.50 59, 600. 00 29, 800
AR (B)
A 1.00 48, 500. 00 48, 500
& B EZ8EAN - 1.00E 78, 300. 00 78, 300
&S5 15
&% EHEARE 1X&Y
22 L I - BIKTE By = B ff ® % & &
EHERARE
= 1.00 63, 774.00 63,774
& H) EZE8EH - 1.00 63, 774.00 63,774
&5 :16
2 EBHRSR 1X&Y
22 L I - BIKTE By = B ff ® % & &
EBHRRE
= 1.00 190, 000. 00 190, 000
= H) EZ8eH - 1.00 190, 000. 00 190, 000




Rifiz -/ \v7r—o

LEEBEPRAEMX(E B)EFMEDRE

517
£ BIEREHRE 1X4Y
% FR BB - KT Bifif = L] ® # wm E w &=
EIEERE
= 1.00 45, 000. 00 45, 000
=) & EFEES : 1.00X 45, 000. 00 45, 000




